
REF. NO. 

15 

16 

17 

18 

19 

20 

20 

21 

22 

22 

23 

24 

2, 

26 

21 

28 

29 

30 

31 

32 

33 

PART 
NUMBER 

- 104-

HYDRAULIC SYSTEM 
DEsc~IPTiON SERIAL NUMBER 

TOUCH-CQNtROL C(LI!IIDER ~L.OCK, CYLIND~ HµD, PISTON, _C::ONNEC::TING ROD, 
REGULATOR VALVE, CHECK VALVES AND CONNECTIONS-Continued 

351 867 RI PISTON, SAFETY VALVE 

351 984 R91 STRAINER OIL. CYLINDER BLOCK 

15 258 E SPRING, SAFETY VALVE (SAME AS 3')) 081 RI) 

352 940 R21 PISTON, PRESSURE REGULATOR VALVE 

351 989 R4 GASKET, CYLINDER HEAD 

354 458 R91 HEAD, CYLINDER, 354 399 Rll, w/SCREW~, ASS_EMBLY 
(WILL WORK FOR 351 988 RII) 501 TO 82412 

( COMPOSED Of -
I f-EAD 354 399 RI I 
2 SCREW 179 839 
7 SCREW 119 842 
I SCREW 119 845) 

354 399 RI I HEAD, CYLINDER, w/PLUGS, 50 474 DA AND" 103 873 OR 444 660 82413 UPa 
179 839 _ SCREW, CAP, HEX-HD., 3/8-16NC X I" 501 TO 99068 
354 920 RI SCREW, CAP, CYLINDER-HD,, SHORT 99069 UP ' 
179 842 SCREW, CAP, HEX-HD., 3/8-16NC X 1-3/8" · 501 TO 99068 
354 921 RI SCREW. CAP, CYLINDER-HD,, MEDIUM 99069 UP 
179 845 SCREW, CAP HEX-HD. 3/8-16NC x 1-3/4" 501 TO 99068 
354 922 RI SCREW, CAP, CYLINDER-HD,, LONG 99069 UP 

351 868 RI SLEEVE, SAFETY VALVE 

353 853 R31 PLUG, w/SCREEN, ORIFICE (WILL WORK FOR 3,1 156 RI) 
(OPTIONAL WITH 355 312 R92) 

355 312 R92 PLUG, w/SCREEN, ORIFICE (WILL WORK FOR 351 156 RI) 
(OPTIONAL_WITH 353 853 R31) 

352 011 R2 ACTUATOR CHECK VALVE 

350 084 RI RIDER, BALL, PRESSURE REGULATOR VALVE 

16 018 RI BALL, PRESSURE REGULATOR VALVE (9/16" DI A.) 

352 025 RI SEAT, PRESSURE REGULA TOR VALVE 

352 024 RI RING, SEAL, PRESSURE REGULATOR VALVE PISTON 

352 012 R21 STOP, CHECK VALVE ACTUATOR, LOWER 

13 121 D WASf-ER, C~ECK'VALVE ACTUATOR STOP (WILL WORK FOR 352 016 R91) 

355 967 RI RING, SEAL, CHECK VALVE ACTUATOR (WILL WORK FOR 252 672 RI) 

351 153 R3 BOOT, CONTROL VALVE 

350 672 RI RING, SEAL, CONTROL VA·LVE 

352 021 R2 STOP, CONTROL VALVE OPERATING LEVER 
179 814 SCREW, CAP, HEX-HD., 5/16-!/3NC X 5/8" 

NO. 
REQ"D 

I 

I 

I 

I 

I 

I 

I 
2 
2 

7 
7 
I 
I 

I 

I 

I 

2 

I 

I 

I 

2 

I 

I 

2, 

I 

I 

·1 

2 




